Raw Score - Mean
Standard Deviation
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: Example 1: Suppose a normal distribution has a mean of 10 and a standard deviation of 2, Flnd mo Z-5COres d
following measurements: |
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Example 2: Suppose a data set is represented by a normal distribution with a mean of 125 and a standard devtaﬁon a‘z..
a) What data value is 2 standard deviations above the mean? .
. ) K —128 Y= X-\25 '
' z=L 28 = - score= 124 -
1 | %= \39 -
b) What data value is 3 standard deviations below the mean?
e Y= o - - 1%
X _a = A-\L5 21 = A\ I
o T S e . Stove, = 104 |
A= 1DY

gxample 3: In a nomaily distributed data set, find the value of the standard deviation if the following additional
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. . ALWAYS SKETCH A NORMAL CURVE AND LABEL THE A-AAID.
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 feet and has a standard deviation of 12.4 cubic feet. Assume that these amounts have approximately @ ROME ER=7F
@) What proportion of trees contains more than 150 cubic feet? B '

axis.

Find the z-score corresponding fo the

T value indicated in the question.
Step 2 | | ierpret this in terms of standard
deviations away from the mean.
Hit 2nd-V ARS-2: noml@df(i?qwifg oL

a9 upper bound). The answer is the
NoYma\ Caf (" 17,9 ) proportion corresponding fo your z-

| ] | score. Write as a percentage.
L - Q.2 /. Step 3:

Note: Use 9% for the UpPer beundif itis |
bl What proportion of trees contain between 175 and 190 cubic not already given. |
| g it Note: Use -9% for the lower bound itifis |

feet? vert
notalreadygiven. |
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Example 2: Healthy 10-week-old domesticated kittens have average weight 24.5 oz. with a standard deviation of 5.25 oz.
The distribution is approximately normal. A kitten is designated as dangerously underweight when, at 10 weeks, it weighs less
than 10.0 oz. What proportion of healthy kittens will designate as dangerously underweighte

s of Betty's Boutique in similar shopping malls across America. The gross

You Try! Suppose that there are 100 franchise _
mately normally distributed with a mean of $4610 and a standard deviation of .

Saturday sales of these boutiques are approxi
$370.
b) Find the z-scores of each of the following gross
Saturday sales amounts: $3870, $4425, and $5535.
2:3000-40(0, .7 | 5. SEaSHEICRSNY

a) Draw a normal curve below and label the
horizontal axis.
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hat percentage of Betly's Boutique franchises had gross Saturday sales between $4425 and $3535
ores you found in part (a) and the normalcdf| function in the calculator. e
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